| | | | Date: | Notes: 1. This sheet replaces installation report and advice for credit to contractors. 2. This word form must be typed 3. Her this form must be typed 3. H | | Notes: 1. This sheet replaces installation report and advice for credit to contractors. 2. This word form must be typed 3. Her this form and if the sheet and in the sheet and i | Proof and advice for | heet replaces installation report | tes: 1. This sh |
|--|--------|--|-----------------------------|--|------------------|--|----------------------|-----------------------------------|-----------------|
| | | | Sign: | | | Det. | 1 | | |
| | team | Approved by Director/E&D team | Approved | | | Sion: | 4 | t and | Sign: |
| | | T. Diana | Anna | | | Approved by QS team | | Approved by project manager | pproved by |
| 10,52,694 | k done | Total amount including taxes for work done | ınt includi | Total amou | | | | | Remarks: |
| | | Add GST @ | | | | | | | |
| 10,52,694 | Total | | | | | | | | |
| 45,472 | 32 | CIVIL5351 | Sft | 1,421 Sft | | | | | |
| 1,56,604 | 34 | CIVIL3417 | Sft | 4,606 Sft | | | 4" Brick work | | 10 |
| 46,800 | 30 | CIVIL5482 | Sft | 1,560 Sft | | ing | Internal plastering | Terrace floor | 9 |
| 1,91,104 | 32 | CIVIL3160 | Sft | 5,972 Sft | | | 4" Brick work | | ~ |
| 43,680 | 28 | CIVIL5285 |) Sft | 1,560 Sft | | ing | Internal plastering | 4th floor | 7 |
| 1,79,160 | 30 | CIVIL1097 | Sft | 5,972 Sft | | | 4" Brick work | | 6 |
| 40,560 | 26 | CIVIL1198 | 1,560 Sft | 1,560 | | ing | Internal plastering | 3rd floor | 5 |
| 1,67,216 | 28 | CIVIL4041 | 5,9/2 Sft | 3,97 | | | 4" Brick work | | 4 |
| 37,512 | 24 | CIVIL7676 | 1,363 Stt | 1,36 | | ing | Internal plastering | 2nd floor | . ω |
| 1,44,586 | 26 | CIVIL5185 | 5,561 Sft | 3,36 | | | 4" Brick work | | 2 |
| Unount | Naiv | | | | | ing | Internal plastering | 1st floor | - |
| Amount | Rate | Rate ID | Units | Oty | | Details of work | | Ollivinooi ilo | |
| | | GST bill required? | GST bil | | | Comacion of Ho. | | I Init/floor no | SI No |
| | Yes | | 25-06-2025 WO issued ? | 25-06-20 | | 03-07-2025 Contractor hill no | 03- | | WO date |
| | | x bill ID. | 23-04-2025 M-codex bill ID. | 23-04-20 | | Work done to date | II TH | 20250703020 Part II | WO no. |
| 17-07-2025 | | Dt. site bills reg. | Dt. site | | Civil works | Work done from date | | NA | Block no. |
| 10045 | | Sl. No. site bills reg. | Sl. No. | | r iasad Choudary | Nature of work | | Project/site Vivopolis | roject/site |
| The second secon | | | | | | | | | |

Contractor Name: Work Description: Prepared By: Date: Project Name: Company Name MEASUREMENT SHEET: SNo 9 Terrace floor 1 1st floor 5 3rd floor 3-2nd floor 7 4th floor Item Head Vivopolis Mallikarjun Civil works 2 Prasad Choudary Modi GV Ventures LLP Internal plastering 4" Brick work Item Description 4" Brick work Internal plastering 4" Brick work 4" Brick work 4" Brick work Internal plastering Internal plastering Internal plastering 17-07-2025 Length Width В Height 0 No's D Quantity 1,560 Sft 5,972 Sft 1,560 Sft 4,606 Sft 1,421 Sft 5,561 Sft 1,563 Sft 5,972 Sft 1,560 Sft 5,972 Sft Units Item Head Total

manusod

| | 10 | 9 Terrace floor | 8 | 7 4th floor | 6 | 5 3rd floor | 4 | 3 2nd floor | 2 | 1 1st floor | S.No Item Head | Date: | Prepared By: | Work Description: | Contractor Name: | Project Name: | Company Name: | |
|----------------------|---------------|---------------------|---------------|---------------------|---------------|---------------------|---------------|---------------------|---------------|---------------------|------------------|------------|--------------|-------------------|------------------|---------------|----------------------|--|
| A TOP SECURE SECTION | | e floor | | or | | or | | OF | | | ad | | | | | | | The second name of the second na |
| Total: | 4" Brick work | Internal plastering | Item Description | 1 | Mallikarjun | Civil works 2 | Prasad Choudary | Vivopolis | Modi GV Ventures LLP | |
| | 1,42 | 4,60 | 1,56 | 5,97 | 1,56 | 5,97 | 1,56 | 5,97 | 1,56 | 5,56 | Quantity | 17-07-2025 | | | | | | |
| | 1,421 Sft | 4,606 Sft | 1,560 Sft | 5,972 Sft | 1,560 Sft | 5,972 Sft | 1,560 Sft | 5,972 Sft | 1,563' Sft | 5,561 Sft | Units | | | | | | | |
| | | | | | | | | | | | Rate | | | | | | | |
| | 32 | 34 | 30 | 32 | 28 | 30 | 26 | 28 | 24 | 26 | 70 | | | | | | | |
| | CIVIL5351 | CIVIL3417 | CIVIL5482 | CIVIL3160 | CIVIL5285 | CIVIL1097 | CIVIL1198 | CIVIL4041 | CIVIL7676 | CIVIL5185 | Rate ID | | | | | | | |
| | | | | | | | | | | | Amount | | | | | | | The second secon |
| 10,52,694 | 45,472 | 1,56,604 | 46,800 | 1,91,104 | 43,680 | 1,79,160 | 40,560 | 1,67,216 | 37,512 | 1,44,586 | | | | | | | | or other land of the land of t |

man +

Masser

Bill for Labour Charges

Prasad Choudary, Janapriya Sitara Apts, Kapra, Hyderabad.

Date: 17-07-2025.

In favor of:

Modi GV Ventures LLP

Project / Site:

Vivopolis

Location:

Genome Valley, Turkapally

Type of Work:

Civil

Towards:

Labour Charges

| S No. | Description | Amount |
|-------|--|----------------|
| 1. | Brief description of work done: Towards Civil works done at site part 2 Total Amount = Rs: 10,52,694/- | Rs: 4,21,077/- |

Amount in words: Four Lakhs Twenty One Thousand and Seventy Seven Rupees only

Sign: Arasas

Bill for Equipment Allowance

Prasad Choudary, Janapriya Sitara Apts, Kapra, Hyderabad.

Date: 17-07-2025.

In favor of:

Modi GV Ventures LLP

Project / Site:

Vivopolis

Location:

Genome Valley, Turkapally

Type of Work:

Civil

Towards:

Allowance for Equipment

| S No. | Description | Amount |
|-------|--|----------------|
| 1. | Brief description of work done: Towards Civil works done at site part 2 Total Amount = Rs: 10,52,694/- | Rs: 4,21,077/- |

Amount in words: Four Lakhs Twenty One Thousand and Seventy Seven Rupees only

Sign: A Production Ch Para Saf

Allowance for Consumables

Prasad Choudary, Janapriya Sitara Apts, Kapra, Hyderabad.

Date: 17-07-2025.

In favor of:

Modi GV Ventures LLP

Project / Site:

Vivopolis

Location:

Genome Valley, Turkapally

Type of Work:

Civil

Towards:

Allowance for Consumables.

| D. J. don | Amount |
|--|----------------|
| Brief description of work done: Towards Civil works done at site part 2 Total Amount = Rs: 10,52,694/- | Rs: 2,10,538/- |

Amount in words: Two Lakhs Ten Thousand Five Hundred and Thirty Eight Rupees only ch Rackast

Sign: